Data - Timetables
Q1

A train timetable is shown.

Southampton 10:15 11:45 13:15
Plymouth 14:54 16:24 17:57
Devonport 14:58 16:28 18:01

(a) William catches the 10:15 from Southampton.
He arrives in Devonport 4 minutes late.

What time does he arrive in Devonport?

............................................................................................................................................

(b) How long is William’s total journey?

............................................................................................................................................

............................................................................................................................................



Data - Timetables
Q2

Here is part of a railway timetable.

Bristol Temple Meads | 0800 | 0830 | 0900
Bath 0815 | 0845 | 0915
Chippenham 0830 | 0900 | 0930
Swindon 0850 | 0920 | 0950
Didcot 0915 | 0945 | 1015
Reading 0935 | 1005 1035
London Paddington 0955 | 1025 1055

A train leaves from Bristol Temple Meads at 09 00

(a) At what time should the train arrive at Swindon?

.....................................

1)
Jambaya gets to the station in Chippenham at 08 45
She waits for the next train to Didcot.
(b) (i) How long should she have to wait?
....................... minutes
(i) At what time should she arrive at Didcot?
2
All the trains should take the same time to travel from Bath to Reading.
(c) How long, in minutes, should it take to travel from Bath to Reading?
....................... minutes
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Here is part of a railway timetable.

Bristol Temple Meads 0800 | 0830 | 0900
Bath 0815 | 0845 | 0915
Chippenham 0830 | 0900 | 0930
Swindon 0850 | 0920 | 0950
Didcot 0915 | 0945 | 1015
Reading 0935 | 1005 | 1035
London Paddington 0955 | 1025 1055

A train leaves from Bristol Temple Meads at 09 00

(a) At what time should the train arrive at Swindon?

Jambaya gets to the station in Chippenham at 08 45
She waits for the next train to Didcot.

(b) (i) How long should she have to wait?
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(ii) At what time should she arrive at Didcot?

.....................................

All the trains should take the same time to travel from Bath to Reading.

(c) How long, in minutes, should it take to travel from Bath to Reading?
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